EBRIEEERD

S5kmF LA R—hE K-1 BF
&g iy B4 L K4 HAl | R7 KA |<7u8| BEES #H SYDE | "7 50
1 4 0:35:35|H 1 &2 FL B @ TLAR—ME K-1 549 boFY
2 1 0:35:41| XM &1t Bt @ TLAR—ME K-1 A5 2%
3 2 0:36:48| 25 &5 Bit @ TLAR—ME K-1 s RETS
4 6 0:39:17|ETH E5 Bt @ TUAR—ME K-1 IFH b
5 5 0:42:04| %38 B B @ TUAR—MEE K1 proas el
6 3 0:52:11 A% 5 BA Bt @ TUAR—MEE K-1 B0 vrsE
ERAENLERD
SknTL A R— M K-1 &F
&g Tuiry BAL K4 SR | R7KR | <78 BEES iR SYUDE | "7 5%
1 10 0:43:29| 28 V¢H |&iE @ TLAHR—rE K-1 TOUT ERS
2 11 0:46:53| XN VA &t @ TLAR—ME K-1 39F FEo
3 8 0:49:11 (& = gk @ TLAR—ME K-1 Fo 9
4 9 0:52:45| 8 EHF =it @ TLAR—ME K-1 24 <Ya
BB IEIR®
5km7 7L hE (BER 4. S5mLUT) - TOMME K—1 BF
EIE Luiry BA L K4 %Rl | R7KE [~7un| BEES EH SYDEE | "7 SR
1 17 0:29:54| 2K & Bt J7ILME R4S T) -2 0ME k-1 S F ER
2 31 0:31:29|JI|& STHE Bit T7ILMEERASMELT) - ZOHEE k-1 [hTYF T3t
3 24 0:31:51(ILMA F—ER |Bi T7IVME BERASMET) - TOMEE K-1  |ves eee700
4 25 0:32:38|%&2ith & Bt TP IMEBERASMUT) - T O K1 R 23k
5 21 0:32:43| 2K EA Bt T7ILMEGERASmELT) - 2O k-1 |REER EFR
6 19 0:32:59|3F R &7 B IPUMERERASMUT) - ZOME K1 [THI aHT
1 29 0:34.06[{E< K HA |B% J7ILME R4S T) -2 DM k-1 |HHF T
8 32 0:34:13| &% =8 Bt T7IVME(BERASMUT) - Z DM K-1  |IEFEH (AL
9 13 0:35:33|LLIE FNEE B TPUMEGERASMUT) - TOMBE K1 | OEE AE
10 26 0:37:46| Fik TH Bt TPILMEERASmELT) - 2O K-1  [S01eE5 2E05
" 12 0:38:43| & E8 BE Bt T7ILME BERASMET) -2 DM k-1 |3H 19AS
12 15 0:39:04( LA E3F Bt T7UME(ERASMET) - ZOMME k-1 Y FAY
13 30 0:39:32| A2 F— Bt T7ILMEEEASMELT) - 2O/ K-1 (AL ELHVE
14 20 0:39:37| B8 1BF Bt T7UME(BERASMET) - ZOMBE k-1 |35 Sarvad
15 18 0:43:04| K& BA Bt T7UME(ERASMT) - ZOMME k-1 [AAs% 18
16 23 0:47:32 |{FHk WL Bt T7ILMEEEASmELT) - Z O k-1 A+ /TED
17 28 0:47:55|FFH =& Bt T7IVMEBERASMUT) - ZOME K-1  |ESE 39D
18 16 0:53:50(/MIl EXEF  |BE T7ME(BERASMET) - ZOMBE K1 (447 w50y
19 27 0:56:27 | A JIE— Bt TEIMEEERASMUT) - T O K1 [Litbb Lpals
20 33 0:58:02 |48 B B4 J7ILME (BERASmET) - 20MME k-1 |4 H 3TA
B IEIR®
S5km7 7L MME (R 4. 5mUT) - T K—1 X%F
&g sy BA L K4 MRl | R7KA <73 BEES i#H SYDEE | R7 SR
1 40 0:38:26|JI|F WHF |&iE T7ILMEERASmELT) - ZOMME k-1 [HTYF 153
2 37 0:39:13|ILE HH#» g JFILMEEEASMUT) - TOME k1 [YE TUY
3 36 0:39:46|LLE ¥ g TPUMEGERASMAT) - EOMBE K-1 | OFE HoOD
4 35 0:46:54|1F4R /NE E-gid T7ILMEERASmELT) - ZOMEE K1 [YHR aFY
5 38 1:00:31|#F £k i T7UME(ERASMUT) - EOMME k-1 [HE HEE
6 39 1:08:02|RRJIIEER it T7ILMEERASmELT) - ZOMME K1 |BEhvh HEE




EBIEREERO

5km7 7L hE - ZOH K—2

EIE | Eyry ERPN K& HAl | R7 KA |<7u8| BEES 8 SYDEE | "7 5B
1 50 0:29:57|F M) Xt& |BtE |+mN w55 |BEHE |© T7ILMME- Z D K-2 St S0BS |5EAD f(E
2 46 0:31:14 |30 =ig B |ED %HEE|BHE |©@ T7IVMEE-ZOMME K-2 757~ 5070 |955R Lt
3 53 0:34:06 | #1586 # 7] Bt |Bh #4|BE |©@ T7ILMEE-FDMBE K-2  |Fua amv s vavzy
4 59 0:34:.07 %82 B E it |4BE WE | Bl (@ T7ILMME- ZF D K-2 FAYT 1% 7447 ¥Ry
5 42 0:36:37| E L &— BiE g #X|BE |©@ T7ILME-Z DM K-2 FIAT V24T [PTHF 198
6 47 0:41:35| I & B |FH wE|BHE |© T7ILME-ZOMME K-2  |cmmaser|F/ 2w
7 41 0:41:59|/\#k [E B Mk F |BE |© T7IVME- T OMME K-2  |2/5vs 593 |asvy eq
8 48 0:42:11| /K S— B |HE ZK| BHE Q@ T7ILMEE-ZDMBE K-2 | rvar (LS5 TN
9 57 0:42:18|=k BEF |&%iE &K F |BE O T7ILMEE- ZDMhE K-2 TURY ERT |TUEY 445
10 56 0:43:29| K% B T |kE 2U7 (Bt |© T7ILME - Z DftfE K-2 £XHY 1% |%259 27
11 58 0:44:35\i%i0 HAEF |XME [EZ ®&0|BHE O T7IVAE - Z DftE K-2 DEFR T2 |EFR rvy
12 49 0:45:19|/M ik & B |1 mAm | BiE (@ T7ILME - Z DffE K-2 VY HY |arery vosan
13 52 0:48:26| KF A2 Bt |BRE EE|&kHE |© T7ILME-ZOMBE K-2  [#475 9 [nx95 742
14 55 0:48:31 |#&4 B2 B @ BT = |© T7ILME- FOMME K-2  |avFenax|avE ava
15 45 0:50:21 |7= H BABA B |mE 0|t |© T7ILME-FOMME K-2  |sr5eoT|ahs 40
16 43 0:52:36 |k FEX B | b ZHiHE|LxHE |© T7ILAEE - ZDffE K-2 Hhy Davs |HIRE Fus
17 51 0:53:23 |85 K FE— B (8K BF|XHE O T7ILME-Z DM K-2 AZXF VAT |ZZXF £EA3
18 54 1:01:44 (183 E= B BHE %ML |© T7ILME-FOMME K-2  |5<0 LedL | 3<0 0FH
19 44 1:04:16|FkE 18 Bt |G BZ|BHE O T7IVAEE - Z DffE K-2 F*az /7 |7HIY 458
TE B RIER RO
SkmA—FU Ty (hFT47Y) -2
&g Hyry ERPN K# HR | R7KR | <73 BEES iR AU | "7 5UEG
1 63 0:31:57|3# £ E3k Bt |EEF wn|B A—TUFVRMNTTATY) C2 |4/9T o5y (577 193y
2 64 0:37:15| B A #Bk Bt |BKRK BRF (&K F—TUTURB(HFTATY) C2 |YOF 454 [y0¥ ¥za
3 65 0:37:21|MJIl #E B |m ER | F=TUFIFENTTATY) C-2 1507 34/7 4557 752
4 62 0:37:54|#kH ZREL Bt A BF X% A—TUTFIRBENTTATY) C2 |h=4 ¥2FY [H3F £A2
5 66 0:42:32 |1k &HiE B |[tkBEEK| B A—TUTFIRBHFTATY) C2 |&&5 h05 [8&5 T3t
6 60 0:42:34| Tk BN B |TH 7|k A—TUFVRBHFTATY) G2 DR 2F4|oKY 293
7 68 0:49:00 |77k /\ TR |XMt &k RA|BHE A—TUTURMNTTATY) G2 |[H4b5 vF3 [$419 9vey
8 61 0:51:21| 2 E—B8 |Bft (HEZR kit A—TUTURMATTATY) G2 |#85LAb25 | HESMEA
EERIELERD
Skm/hEE (R4, 20mLUTOR) K-1 BF
EIE | Eyry LN K4 Al | R7 KA |<7u3| BEES 8 SYHE | R7aYHE
1 73 0:42:40 | H R Bt (D) BERA20mMUT OB K-1 INEE |559 hatda
2 74 0:46:20|#F IEAER |Bfk (D) BEA20mUTOME K-1 INEAE €L 25
3 69 0:52:43|H e 4 Bit (D) HR420mUTOR K-1 INFE |45 B
4 72 0:57:50| ;&0 f##k Bit (D) BERA20mETOM K-1 NP (9557 74r
b 71 1:00:27 | ¥R 2B |24 (@) HERA20mMLUT DM K-1 INEE |we o0v0
6 70 1:03:42| 28 "HE Bt (@) ERA20mMLTOME K-1 INFE |[75v< vame
EERIERD
SkmhE (EE4. 20mBTFORB) K—1 %F
EIE | Eyry B4 L K& HRl | R7KA |<7u8| BEES iR SYHE | "7 5UHEG
1 80 0:42:28|18 8 = i ) BEA20mUTOME K-1 INEE |F527 arn
2 76 0:42:42| 2% FF it @ BERA20mELTOME K-1 NP RS/ Hvh
3 78 0:44:49|KH FKIE =i @ BEE420mUTOME K-1 /NFE |445 a9
4 77 0:44:50| & %% i ) BER420mUTOM K-1 /24 | XA FHF
5 79 1:07:33| B&J11 /2R, = (D) BERA20mMUTORE K-1 /INRE 550D YIE




EBRIERR®D

SkmehEAE (fER4. 20mATORE) K—1 BF
BIE | Byry 4L K4 R | RTKRA |~7tn) BEES #EH SYD | R 5UhYE
1 82 0:34:56 | 7k A BERE Bt ® BERA20mMUTOM K-1 s [+¥50adr
2 81 0:37:13|18 & ¥K Bt ® BE420mU T OB K-1 h%4E |5so< wven
B BIRED
Skmepz g (RER4. 20mLAFOORE)  K—1 %F
EIE_|tyry BAL E& | 1Al | X7RA [~ren @EES H SB[ <7505
1 83 0:36:07|185 EX oy ® BERA20MLUT OB K-1 thEesk |950% 744
ERAIBERD
5kmR &Y FF7 9 TINELR—F (A 2TL—82TLR—F24TF) BF
BIE | Byry S84 L K4 5 | X7 K4 <73 EEES #EH SYDE | ~7 59t
1 92 0:28:45| B M Bt (&) REATYT SR ((0IL—8TNE—54T)  |845 F7ER
2 100 0:29:25|+H &E Bif ® RETITENR—K (A~ nk—k517) (KA /1D
3 89 0:29:46| LA 5% Bt (&) REUETYTSELR—F (A2 IL—5TNA—K54T) | v=ES Davk
4 116 0:29:49|={k IEE#2 B (&) RIKTYTNENA—R (A IL—8TNA—K547) | BT T4/
5 106 0:30:56 357K F&1T Bt (B) REUET YT SELR—F ({2 IL—5TNA—K84F) VIR Aha%
6 122 0:30:59 | #t #8317 B (B) REUKTYTNENA—R AV I—8TNA—FS4T) | adED DBEL
7 124 0:31:41| 21 —%& Bt (&) REURTYTSENR—E (A2 IL—ETNAK—KEAT)  [8hNS hR%H
8 126 0:31:48 | Ev 4t H4dt Bt (B) REUET YT SELR—F ({2 IL—5TNA—K54F) | DED VTE
9 105 0:32:42|H %t = Bt (&) REANTYTRER—K (A2 IV—8TNE—K84T) [ FHLT Y3y
10 114 0:33:02| ARH & Bt (B) REUETYTSELR—F (1oL —5Tnk—k547)  |{[Ft= &L
11 98 0:33:06 /7ML % Bt (B) REUET YT SELR—F ({2 IL—5TNA—K84F) |27 A%
12 119 0:33:41|BaH &R Bt (&) REUET YT SELR—F ({2 IL—5TNA—K84T) A 55 )2y
13 110 0:35:28| 7~ ¥k iH Bt (B) REUET YT SELR—F ({2 IL—5TNA—K84T) | FHEE Sav
14 103 0:36:10| E 3 @ ABH B (B) REKTYTIENA—F AV I—8TNA—FE4T) |2 HAT=25
15 108 0:36:16| &t HE Bt (B) REATYTRER—K (12 IV—8TNA—Kaa7) [P T
16 120 0:36:19|&2 M 1&E— Bt (B) REATYTRELR—F (A0IL—5TNE—54T)  [<Dtz LALE
17 112 0:36:39:FH = Bt (B) REATYTRELR—F (10IL—5TNE—54T) [ THA 1)a™
18 118 0:37:03|Ft A E#t Bt (B) REATYTRENR—K ((0IL—5TNE—54T)  [UHH F4 %
19 117 0:37:18;BR #+ Bt (B) REATYT SR~ (AUIL—BTNE—K54T)  [$HT AHRY
20 104 0:40:503I )1 & Bt (B) REATYTRELR—F ((0IL—3TNk—547) | TH D A4
21 130 0:40:53| %t L 183 Bt (B) REKTYTNENA—R (Y IL—8TNK—F54T) | L5HS EOTH
22 128 0:40:54| KL B2 Bt (B) REKTYTNENA—R (Y IL—8TNK—F54T)  |REFY PYaE
23 109 0:41:07|&F @K Bt (B) REATYT SR~ ((0IL—5TNE—54T)  [HAL B
24 102 0:41:13| Bl 185 Bt ® REATITRENK—FE (1T —8TNK—KE4T) | 4% ha%
25 115 0:44:13 |48 &2 Bi4 ® REATITENR—E (A I—sTnk—k81T) |[FY BHED
26 95 0:44:43 |5 5K Bt (B) REATYTSELR—F ((0IL—8TNA—K54T) |4/ ahED
27 87 0:44:57| B %K B4 ® REATYTRENR—F ((0IL—5TNE—54T) [ A LM%
28 101 0:45:31|/NEE K B4 (B) REATYTRELR—F ({28 k—K817) B £&B
29 125 0:47:04|¥AME (S B4 (B) REATYTENK—K ({2 IV—8TNR—K84T) [N JTA
30 86 0:47:05| K@i Hig B4 (B) REUET YT SELR—F ({2IL—5TNA—K54T)  |BBEZ Lk
31 96 0:47:46|{kfE £1E B4 (B) REKTIINENR—K (A I =T NA—K51T)  |[Hhry T
32 107 0:48:23|3E0 F2 B4 ® REATYTSENK—K ((2IV—8TNR—K8AT)  [D5F R 5%
33 90 0:49:18| )1l fii K Bt (B) RIKTYTRENA—R (AU I—ETNKR—KE4T) | AFHT a95 1
34 94 0:50:30| 7 lg & Bt ® REKTIINELR—KE AT =T NA—K51T) | [ 5% LA
35 88 0:51:26| AR B4 Bt (B) REKTIINELR—E (I =T NA—K51T) | f=VE F5
36 84 0:54:55|th & & Bt ® REKTITNENR—E (AT =T NA—K51T) |47 $3ET
37 123 0:54:56 |3k 5% k1T B4 ® REATYTRENK—K ((2IV—8TNR—K81T)  |BED BADE
38 97 0:55:06 |t & fE— Bt ® REAT oI RENR—E (I —5TNK—KEAT) | L% oA F
39 91 0:57:14| AL FIK Bt @ REUKTYTIENA—R (A0 IL—8TNK—F54T)  |LLoF LSt
40 93 1:00:02 | X B 1t Bt @ REKTYTNELR—E (I =T NA—K51T)  |HED T=IFL




EBEIEMERD

5kmR B > R7 v TIRFLR—F (127 Lb—82TLKR—F4a47) %F
ElE | gvry 4L K4 R | RTKRA |~7tn) BEES #EH SYDEE |7 5Yns%

1 146 0:33:18|#BiE £F k-dicd ® REATYTRER—K (12 IL—8TLk—Ka17) [T A TH
2 140 0:33:25|:F%H BAF k-dicd (&) REUETYTRELR—F (2 IL—5TNk—K54F) | THA ERD
3 141 0:38:01 |t A &HF k-dicd (&) REUETYTRELR—F (2 IL—5TNk—K547)  |ASEF FED
4 147 0:38:06| X H =F k-dicd ® REUETYTRELR—K (L —5TNA—K547) | A4S AHT
5 136 0:45:36 |{EB7 & U  |&iH (&) REATYT SR~ ((0IL—8TNE—54T)  [H/3Hh PHF
6 142 0:46:27 |88 ERXF |&E (&) REUET YT RELR—F ({2 IL—5TNk—K547)  |ERZ £33
7 137 0:46:32|3FW HEF k-dicd (&) REKTYTNENA—F (A IL—8TNK—F547) | THTY 2%3
8 138 0:48:11| B BF k-dicd (&) REUET YT RELR—F (2 IL—5TNA—K54F)  [Fwkl) (3
9 143 0:52:19| =18 EE k-dicd ® REUETYTELR—K (A2 IL—5TNA—K54F)  |BANS T
10 132 0:53:00|{E " K B k-dicd (&) REUETYTRELR—F (2L —5TNK—K547) | XEE B A
11 144 0:53:17 | ak Svo745 | &k ® REKTITSENK K A T—BTNA—KEAT) |85 CohTib
12 148 0:53:40| B K &F k-dicd (&) REUETYTELR—F (2 IL—5TNA—K54T)  |f=hE VBT
13 150 1:02:34| KA EfftH & (&) REKTITSENR—K (AT =T NAR—K54T) A A A 353
14 139 1:03:16| EL EA k-dicd (&) REUET YT RELR—F (A IL—5TNR—K54T)  |5RHT NI %
15 131 1:06:58 | KA HFIE k-dicd (&) REUETYISER—F (AU IL—8TNK—K54T) | BHER [£5E
16 134 1:08:38|8 £ =2 k43 (B) REUET YT SELR—F ({2 IL—5TNA—K54F) | a9HT TA
17 133 1:09:10(8 £ % k43 (B) REUET YT SELR—F ({2 IL—5TNA—K54F) |39 HIT TL
18 149 1:09:16|8 £ FDH T (&) REATYTSELR—F (A0IL—5TR—54T)  [a9HS 223

B ARG R

5km F—TF v

g | Evry B4 L K4 R | X7 KA <73 EEES #H SYDE | R7 5Yht

1 7 0:33:39 | K#f xR | &k 5K-7'y |A—T> w45 TR
2 154 0:34:25|fR B KA Bt 5K-7'y |A—T> 75 HARr
3 152 0:37:33| T 184 B 5KA=7'v |A =T FIE 9380
4 151 0:40:00 3] F 41 F B 5KA=7'v | A =T HI5 I
5 157 0:43:13|¥H BHIE Bk 5Kt-7Y |A—TF 512 HOEE
6 159 0:46:22| AL F BEX g 5KF-7V |A—Tv FHZ LOH
7 156 0:46:33| =18 1EE Bt 5K-7'y |A—Tv L TEEA
8 158 058:30| BH BE |Bit 5KF-7'Y |A—T v of2 FEDY
9 155 1:00:06| kA 51T Bt 5KF-7'Y |A—T v A¥5 /7%




